
Mongolian 13 kW
Low Pressure Boiler
Model 5.3

Model MN5.3

Version 3.1 for 40mm
plastic refractory plates
2018-06-21

Materials:
Mostly 3.0 mm Mild Steel Sheet, some 5.0 mm
Plastic refractory plates 40mm thick

Instructions:
Inside bends are sharp- - check bend size with scrap before bending
Chimney connector is 108 outside dia
End plates are placed ON the end, and hang down 10mm
The foot height is to suit local customer preferences, typically 200mm
Plastic refractory plates are installed with fireclay cement or clay
Door hinges: 2x13mm bullet hinges welded on the back side
Door latch must be reliable - door must seal all round

C Pemberton-Pigott

Grate Bars

493

125

12mm Round Bar

Handle with ring made
from an M16 nut

1
5
5

Assemble everything flat

7 pieces 465

C Pemberton-Pigott

Front Ash Drawer Housing

End Cap

Goes inside the end
of the housing

319

Drawer Front

**Important**

The Ash Drawer Housing must be
mounted so the open end is flush
with the end of the stove body,
not recessed. The drawer front must
completely close air gaps so no
air can enter around the ash drawer.

3

Add any suitable
handle

Back View

FRONT ASH DRAWER
Cut and weld

617

240

2
1

1
7

100

7
6

240

1
3
0

85

4
0

40

Door Panel

Air controller (sliding door)

Add a small handle

Air controller guides

2 of each C Pemberton-Pigott

2
4

40 21

2
4

Grate

1
2
3
.0

291.0

Housing Back
295 x 130 1

3
0

Smooth round bar
Armatura "A1"

Armatura  "A3" 7 x 465
2 x 155

6
.1

1.  Place the strips at top
and bottom of the door panel

2.  Slide in the air controller
and weld door-stops on each side
Add the hinges.

130 296 130

4
7
8

Housing bottom
478 x 296

H
o
u
s
in

g
 s

id
e

4
7
8
 x

 1
3
0

H
o
u
s
in

g
 s

id
e

4
7
8
 x

 1
3
0

295

4
6
2

120

65
55

291 120

296

1
3
3Front view

Cut and Weld Alternatives to Bent Sheets

Outside dimensions
488 x 310 x 123
(plus the handle)

R8

The bottom of drawer body
is 3mm above the bottom

of the Drawer front

3
4
2

1
2
0

Side View

478

1
3
3

C Pemberton-Pigott

MN5.3.3.1.00 Title block

MN5.3.1.1.02 Grate

MN5.3.3.1.07 Door MN5.3.3.0.10 Front Drawer Housing

MN5.3.3.0.11 Front Ash Drawer - WELD

20 166 20

20

178
20

6
.0

6
.0

C Pemberton-PigottKG5.3.3.1.16 Cast Iron
Finished size

End View

Top View

5mm Steel Plate

Cooking Cover Fuel Cover

C Pemberton-Pigott

Cast Iron Bridge KG5.3.3.1.17 Bridge

C Pemberton-PigottKG5.3.3.1.18 Steel Top

Cut strip 20mm x 2 to make a circular
brace under the lids.

The lid must fit loosely in the hole

because it wil l get very hot and
expand,

148

159

Top View
5mm Steel Plate
cooking cover

Ø
151

.6

Ø162.8

Weld the brace
on the inside only

C Pemberton-PigottKG5.3.3.1.21 Cast Iron
Pattern size, 3% larger

Top Deck pattern
3% larger

C Pemberton-Pigott

KG5.3.3.1.45 Cast Iron
Top pattern in 3D
3% larger:
2% shrinkage to make aluminum pattern

1% chrinkage for cast iron final product

MN5.3.3.1.09 Ash Drawer - BENDMN5.3.3.1.08 Front Drawer Housing

Cut and WeldCut and Bend

Ceramic
Plate
Model

C Pemberton-Pigott

425.0
2
3
0

C Pemberton-Pigott

170mm high115mm high

115mm high 170mm high

6
0

m
m

 h
ig

h

11
5

m
m

 h
ig

h

210190

Inserts

11
5

G
a

p

55

400

1
70

2
50

480

1
95

55

190 290

210

Use 40 x 40 x 3mm Angle Iron

25

25

230

4
73

4
24

230

310

60 1
40

C Pemberton-Pigott

310

4
50

5
53

245

245

C Pemberton-Pigott

Inserts

Use 40 x 40 x 3mm Angle Iron

Use 60 x 60 x 5mm Angle Iron

230

3
70

5
93

40

40

62

11
4

In
s

e
rt

One side inserts is 355mm long

The other is 472mm
both placed againse the bottom.

Make one left version
and one right version

The centre insert is 473 x 62 x 9mm

made of 3 piece of 3mm

C Pemberton-Pigott

Dwg. MN5.3.3.1.32

185

4
73

185

60

305305

Mould 8
Dividing Wall

C Pemberton-Pigott

Inserts

40

310

Mould 3
2 inserts
351mm longLower Side Plates

Make a LEFT and
RIGHT version

Lower Front

Back Plate
Front Plate

Mould 2

2 small inserts
59mm long

Mould 4

2 inserts
472mm long

Mould 1
2 inserts

Mould 7
Choke

C Pemberton-Pigott

Making inserts

Placement of the plates 1

Plates, Bottom Row46

4
73

165

Short LEFT
RIGHT

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1

2018-06-21

Model MN5.3

Version 3.1
2018-06-21

Dwg. MN5.3.3.1.38

310

1
95230

C Pemberton-Pigott

Inserts

40

310

Back Lower Plate

Mould 9

2 inserts
114mm long

Plates and top deck in Place

Mould 7
Ejector Plates

Whole Body Shell
C Pemberton-Pigott

155

23.6
9.6

1
0

.0

317
311

6
5

3
 S

id
e

 p
la

te

127.5

Ø110

6
5

6
.0

 O
ve

ra
ll

Inner chamber length:

422 mm inside

Side View, End Plates
Shown in Position

1
77

478

6
4
6
.0

 t
o
ta

l h
e
ig

ht

w
it
h
o
u
t 
th

e
 t
o
p
 d

e
c
k 

a
n
d
 s

e
a
l

475 Inside

694 Overall except for the chimney

465

6
43

95

50

246.0

350 246

Inside Sides
2 pcs

Bend
1 Left, 1 Right

600

6
4
0

2
5

600.0 Inside plate

8
3

155.5 155.5

255

311

Back
1 pc

Inside Back
1 pc

6
7
8

Ø
11

0

Front Panel

Bottom Plate,
Fits inside front, back and sides

R
7

142
1

7
1

1
7
0

7
1

C Pemberton-Pigott

MN5.3.3.1.06 Sheet Metal 3
373

6
0
4

168

8
5

1
0
0

Model MN5.3
Version 3.1

2018-06-21

373

3
11

1
5

5
.5

1
5

5
.5

118 153 342 40

653

87.5 87.5

6
7
8

Divider
1 pc

5
4
0

255

Outside Sides
2 pcs

666.0

210228

3
3
4

5

43

Front
1 pc

Bottom
1 pc

95

Ø49.5

Model MN5.3
Version 3.1

2018-06-21

Dwg. MN5.3.3.1.44

C Pemberton-Pigott

MN5.3.3.1.04 Sheet Metal 1

Model MN5.3

Version 3.1
2018-06-21

C Pemberton-Pigott

MN5.3.3.1.05 Sheet Metal 2

Model MN5.3
Version 3.1
2018-06-21

C Pemberton-Pigott

MN5.3.1.1.01 Tipping Grate

Model MN5.3
Version 3.1
2018-06-21

Grate Bars

493

1
5
5

Assemble everything flat

7 pieces 479

1 Grate Support Bracket

52.6 165.0 52.6

165

165 6 or 5mm6 or 5mm

70

25

5
7

.6

3
1

.9

5
1

.9

618

Tipping Grate

177

155

7
0

.0

270.3

25°

20 20

205

9
.5 9.5

1
5
5

4 crosspieces 155mm Y12 (Armatura)
1 piece   131mm Y12
6 pieces 479mm Y12

1 piece   698mm R12 centre shaft
1 piece   155mm R12 handle
2 x M14 hex nuts

1 x M16 hex nut

Cross pieces

Tipping pieces

End View

M14 nuts are drilled 12.3 dia and welded
to the R12 shaft such that the shaft
can rotate inside the M16 nut.

293

1
5
0

Drawer Front

**Important**

The Ash Drawer Housing must be
mounted so the open end is flush
with the end of the stove body,
not recessed. The drawer front must
completely close air gaps so no
air can enter around the ash drawer.

3

Add any suitable
handle

Back View

FRONT ASH DRAWER
Cut and bend

11
3
.0

249.0

243

C Pemberton-Pigott

Outside dimensions
443 x 285 x 123
(plus the handle)

The bottom of drawer body
is 3mm above the bottom

of the Drawer front

B
e

n
d

 9
0

 D
e

g

Front Ash Drawer Housing

Back

1
3
0

255 130

261

Side View

C Pemberton-Pigott

Cut and Bend

1
3
3

478

110110

Housing bottom

Cut and Bend

130

463

4
6
2

A

A

Top View
after
bending

B

3

1
.5First Bend

4
7
5

S
e

c
o

n
d

 B
e
n
d

T
h

ir
d

 B
e

n
d

4
7
8

261

243

11
0

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.0
2018-06-09

Model MN5.3
Version 3.0
2018-06-09

C Pemberton-Pigott

Threaded
Cap

2
5

1
8
7

25 Lip

Bend with offset 3.2mm

Model MN5.3
Version 3.1

2018-06-21

Add a door latch

311.0

666.0 Outside the side plate

MN5.3.3.1.03 Whole Body Model MN5.3
Version 3.1
2018-06-21

Grate Support Bracket:

504
21

636

686

3
7
7

4
2
7

157273

175

Ø
16

3

165

1
6
5

187273226

2
1
4

25

2
5

2
5

25

C Pemberton-Pigott

MN5.3.3.1.13 Sheet Metal 5

Model MN5.3
Version 3.1
2018-06-21

Cut the circle inside the square first.
Then cut the rest of the top.

Ø230

Ø190

Ring

187

1
8
7

Hopper Cover

300

270

3
8

W
e
ld

 o
n
 t
h
e
 B

ra
c
e

1.  Pr opos it ions on the  S t at e  of the  Ar t in  home  he a ti ng te c hnol ogi es  i n  Ce ntr al  As ia  
 

R
20

Ø
48

228

5
0

28

6
1
8

Convection
Plate 1 pc

Deflector
1 pc

255

4
2
0

285

8
3

317

5
40

7
4

2
5

311 2
5

5
0

6
5

6
0
0

281

6
6
5

R15

7
0

Ø
11

0

1
4

253

Ø200

1
0
1

2
1
4

96

Ø82

6
5
6

6
2
8

5
0

311

5
4
5

6133
7

53

6
4
16
7
8

R10

1
0
0

C Pemberton-Pigott

Inner chamber length:

422 mm inside

Side View, End Plates
Shown in Position

478
475 Inside

36.0

Threaded
Cap

MN5.3.3.1.12 Whole Body Model MN5.3
Version 3.1
2018-06-21

Ø80

Ø130

Ø9.5

130

1
3
0

145

1
4
5

Ø102

Ø150

Ø9.5

2 Flanges 2 Flanges

30

3434

Ø25.5

Ø
18

Ø
18

35
6565146

Hole on right side only

R
5

R10

6
4
0

6
5
3

3
4
4

25

28

4

1
0

6

10

255

1
3
0

R10

Ø163

Ø55

Pot hole
ring

All these parts
5mm Steel Plate

Top Deck
Brace

3mm Steel Sheet

3mm Steel Sheet
3mm Steel Sheet

3mm Steel Sheet
3mm Steel Sheet

3mm Steel Sheet

3mm Steel Sheet

Cut the orange parts but not the centre bar

R26

50

52

R23

40

1
7
5

See drawing 13 for dimensions

1
5

122

261

1
3
3

6
4
3

6
3
1 6

5
6

Draft Regulator installs here

Bend

5
0

52

R
26

Cut

5
53

315

315

C Pemberton-Pigott

Inserts

Use 40 x 40 x 3mm Angle Iron

40

One side inserts is 355mm long

The other is 472mm
both placed againse the bottom.

Make one left version

and one right version

The centre insert is 473 x 62 x 9mm
made of 3 piece of 3mm

The previous mould has
been split into 2 PARTS

Side Plates

2 Inserts

4
73

235

Long
LEFT

RIGHT

3
75

31

Inserts

40

Long

Model MN5.3
Version 3.1

2018-06-21

Dwg. MN5.3.3.1.33

Model MN5.3
Version 3.1

2018-06-21

Dwg. MN5.3.3.1.34

Model MN5.3

Version 3.1
2018-06-21

Dwg. MN5.3.3.1.35
Model MN5.3
Version 3.1
2018-06-21

Dwg. MN5.3.3.1.36

Model MN5.3
Version 3.1
2018-06-21

Dwg. MN5.3.3.1.37

Model MN5.3
Version 3.1
2018-06-21

Model MN5.3
Version 3.1
2018-06-21

Dwg. MN5.3.3.1.39
Model MN5.3

Version 3.1
2018-06-21

Dwg. MN5.3.3.1.40

Model MN5.3

Version 3.1
2018-06-21

Dwg. MN5.3.3.1.41

3
6
7

2
5
5

3
11

3
6
7

R
15

422.0

C Pemberton-Pigott

170mm high170mm high

170mm high

6
0

m
m

 h
ig

h

Placement of the plates 2

Plates, Second Row

Model MN5.3

Version 3.1
2018-06-21

Dwg. MN5.3.3.1.42

3
6
7

3
6
7

170mm high

1
7

0
m

m
 h

ig
h

1
7

0
m

m
 h

ig
h

422.0

C Pemberton-Pigott

643mm high

6
4

3
m

m
 h

ig
h

Placement of the plates 3

Plates, Third Row

Model MN5.3

Version 3.1
2018-06-21

Dwg. MN5.3.3.1.43

3
6
7

3
6
7

5
4

0
m

m
 h

ig
h

Inserts

40

Short

165

245

Moulds 5a and b

Moulds 6a and b

643mm high643mm high

643mm high

6
4

3
m

m
 h

ig
h

5
3

Cut on the line

Weld the ring under
the cover on the
inside of the inner
circle only

Bend 90 degrees

C Pemberton-Pigott

MN5.3.3.1.14 Sheet Metal 6

Model MN5.3
Version 3.1
2018-06-21

After bending

646

3
8
7

Bend down

Bend down

B
e
n
d
 d

o
w

n

B
en

d
 u

p

A

A - A

B

B

B - B

C - C

C

C

A
Ø218.5

20

21

R
3

Ø218.5

20

21

R
3

Ø198.4

Ø188.1

636

686

3
7
7

4
2
7

Ø
16

3

165

1
6
5

187273226

2
1
4

25

2
5

2
5

25

300

W
e
ld

 o
n
 t
h
e
 B

ra
c
e

1.  Pr opos it ions on the  S t at e  of the  Ar t in  home  he a ti ng te c hnol ogi es  i n  Ce ntr al  As ia  
 

Ø200

1
0
1

2
1
4

96

Ø82

Cut on the line

R3.1

R3.1

Cooking Cover

Fuel Cover

Ø
15

9.
0

Ø163.0

1
8

7
.0

187.0

Ø218.5

Ø218.5

Ø198.0

Ø194.0

End View

Cooking Cover Fuel Cover

A

A - A

B

B

B - B

C - C

C

C

A

Ø225.1

Ø225.1

Ø204.3

Ø193.7

C Pemberton-Pigott

Cast Iron Bridge Pattern
3% Larger

KG5.3.3.1.22 Bridge

Model MN5.3
Version 3.1
2018-06-21

Ø
15

6.
2

Ø
167.

7

R6

R3

20

16

Back view

Hole on both plates

Bend
1 Left, 1 Right

Front

Left side

view

25

B
e
n
d
 u

p
 t

h
is

 e
n
d
 o

n
ly

Machined

surface
Machined

surface

Machined
surface

Machined

surface663

76

165


